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Q1. The calendar for the year 2007 will be the same for
the year.

a) 2016
b) 2017
c) 2018
d) 2014

e) None of these

Q2. Which of the following is not a leap year?
a) 800

b) 1200

¢) 2000

d) 700

e) None of these

Q3. March 1, 2008 was Saturday. Which day was it on
March 1, 20027

a) Friday
b) Saturday

¢) Sunday
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d) Thursday

e) None of these

Q4. The last day of a century cannot be
a) Wednesday

b) Tuesday

c) Friday

d) Monday

e) None of these
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Q5. An application was received by inward clerk in the
afternoon of a week day. Next day he forwarded it to the
table of the senior clerk, Who was on leave that day. The
senior clerk put up the application to the desk officer next
day in the evening. The desk officer studied the
application and disposed off the matter on the same day
l.e., Friday. Which day was the application received by the
inward clerk ?

a) Wednesday
b) Tuesday
c) Previous week's Saturday

d) Monday
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e) None of these

Q6. The number of times in a day the Hour-hand and the
Minute hand of a clock are at right angles, is

a) 48

d) 44

e) None of these

Q7. On 8th Feb, 2005 it was Tuesday. What was the day of
the week on 8th Feb, 20047

a) Monday

b) Sunday

c) Wednesday
d) Tuesday

e) None of these

Q8. It was Sunday on Jan 1, 2006. What was the day of the
week on Jan 1, 20107

a) Saturday

b) Friday

c) Wednesday
d) Sunday

e) None of these



Q9.1In 2 % hours the hour hand of a clock rotates through
an angle of

a) 140°

b) 120°

c) 75°

d) 90°

e) None of these

Q10. Ashish leaves his house at 20 minutes to seven in the
morning reaches Kunal's house in 25 minutes. They finish
their breakfast in another 15 minutes and leave for their
office which takes another 35 minutes. At what time do
they leave Kunal's house to reach their office?

a) 7.20 a.m.
b) 7.45 a.m.
c) 8.15 a.m.
d) 7.40 a.m.

e) None of these

Q11. Reaching the place of meeting on Tuesday 15
minutes before 8.30 hours, Anuj found himself half an
hour earlier than the man who was 40 minutes late. What
was the scheduled time of the meeting?

a) 8.05 hrs
b) 8.15 hrs
c) 8.45 hrs

d) 8.00 hrs



e) None of these

Q12. At what time between 4 and 5 o'clock will the hands
of a watch point in opposite directions?

a) 40 min. past 4

b) 50 14—1 min. past 4

c) 54 % min. past 4

d) 45 min. past 4

e) None of these
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Q13. How many days are there in x weeks x days?
a) 8 x

b) 14 x

d) 7

e) None of these

Q14. An accurate clock shows the time as 3.00. After hour
hand has moved 135°, the time would be

a) 6. 30

b) 8.00
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) 9.30

d) 7.30

e) None of these

Q15. 16 January 1997 was a Thursday. What day of the
week was 4 January 20007

a) Wednesday

b) Thursday

c) Friday

d) Tuesday

e) None of these

Answers to the above questions :

Q1. Answer: (c)

Count the number of odd days from the year 2007 onwards from

the year 2007 onwards to get the sum equal to 0 odd day.

Year || 2007 || 2008 || 2009 || 2010 || 2011 || 2012 || 2013 || 2014
Oodd

1 2 1 1 1 2 1 1
day

Q2. Answer: (d)

The century divisible by 400 is a leap year.

. The year 700 is not a leap year.

v
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Q3. Answer: (a)

In a year, number of weeks = 52 extra day = 1
From 2002 to 2008, there are 6 years.

So number of extra days = 6 (1) = 6

While 2004 and 2008 are leap years, having one more extra day
apart from the normal extra day.

Thus, number of extradays =6+ 1+ 1=38
Out of these 8 extra days, 7 days form a week and so 1 day remains.

Hence, March 1, 2002 is 1 day less then March 1, 2008 i.e., it is
Friday.

5000+ VERBAL REASONING TOPIC WISE
QUESTION BANK WITH SOLVED ANSWERS &
FREE PDF

ANALOGY BLOOD RELATIONS CODING & DECODING

CLASSIFICATION VENN DIAGRAMS CLOCKS CALENDAR

PUZZLES TEST DIRECTION & DISTANCE SENSE TEST

INPUT OUTPUT ASSERTION & REASON CAUSE AND EFFECT

SEATING ARRANGEMENTS STATEMENT & CONCLUSION

SERIES COMPLETION STATEMENT & ARGUMENTS

STATEMENT & ASSUMPTIONS

STATEMENT & COURSE OF ACTION PASSAGE & CONCLUSION

SEQUENTIAL TEST MATHEMATICAL OPERATIONS

WORD FORMATION SYLLOGISM ARITHMETICAL REASONING

ALPHABET & NUMBERS ARRANGEMENT PROBLEM SOLVING

ANALYTICAL DECISION MAKING CODED INEQUALITIES

DECISION MAKING CRITICAL REASONING DATA SUFFICIENCY

MATRIX TEST


https://careericons.com/verbal-reasoning/analogy/1/
https://careericons.com/verbal-reasoning/blood-relation/2/
https://careericons.com/verbal-reasoning/coding-and-decoding/18/
https://careericons.com/verbal-reasoning/classification/19/
https://careericons.com/verbal-reasoning/venn-diagrams/20/
https://careericons.com/verbal-reasoning/clocks/21/
https://careericons.com/verbal-reasoning/calendar-problems/22/
https://careericons.com/verbal-reasoning/puzzles-test/23/
https://careericons.com/verbal-reasoning/direction-distance-test/24/
https://careericons.com/verbal-reasoning/input-output/25/
https://careericons.com/verbal-reasoning/assertion-and-reason/26/
https://careericons.com/verbal-reasoning/cause-and-effect/28/
https://careericons.com/verbal-reasoning/seating-arrangements/31/
https://careericons.com/verbal-reasoning/statement-and-conclusion/32/
https://careericons.com/verbal-reasoning/series-completion/50/
https://careericons.com/verbal-reasoning/statement-and-arguments/51/
https://careericons.com/verbal-reasoning/statement-and-assumptions/52/
https://careericons.com/verbal-reasoning/statement-and-course-of-action/53/
https://careericons.com/verbal-reasoning/passage-and-conclusion/54/
https://careericons.com/verbal-reasoning/sequential-order-test/55/
https://careericons.com/verbal-reasoning/mathematical-operations-problems/56/
https://careericons.com/verbal-reasoning/word-formation/136/
https://careericons.com/verbal-reasoning/syllogism/296/
https://careericons.com/verbal-reasoning/arithmetical-reasoning/330/
https://careericons.com/verbal-reasoning/alphabet-and-numbers-arrangement/331/
https://careericons.com/verbal-reasoning/problem-solving/332/
https://careericons.com/verbal-reasoning/analytical-decision-making/333/
https://careericons.com/verbal-reasoning/coded-inequalities/334/
https://careericons.com/verbal-reasoning/decision-making/335/
https://careericons.com/verbal-reasoning/critical-reasoning/336/
https://careericons.com/verbal-reasoning/data-sufficiency/337/
https://careericons.com/verbal-reasoning/matrix-test/338/

Q4. Answer: (b)

100 years contain 5 odd days.

~. Last day of 1st century is Friday

200 years contain (5 x 2) = 3 odd days.

~. Last day of 2nd century is Wednesday.
300 years contain (5 x 3) = 15 = 1 odd day.
~. Last day of 3rd century is Monday.

400 years contain 0 odd day.

.. Last day of 4th century is Sunday.

This cycle is repeated.

.. Last day of a century cannot be Tuesday or Thursday or Saturday.

Q5. Answer: (a)
A reverse flow chart will look as follows:

23.

Q6. Answer: (a)
No of right angles in one hour = 2

. No of right angles in 24 hours = 24 x 2 = 48

Q7. Answer: (b)
The year 2004 is a leap year. It has 2 odd days.
.. The day on 8th Feb, 2004 is 2 days before the day on 8th Feb,

2005. Hence, this day is Sunday.



Q8. Answer: (b)

On 31st December, 2005 it was Saturday.

Number of odd days from the year 2006 to the year 2009
=(1+1+2+1)=>5days

. On 31st December 2009, it was Thursday.

Thus, on 1st Jan, 2010 it is Friday.

Q9. Answer: (c)

2% hrs 150 min

.. Angle covered by hour hand in 1 min = 15

. Angle covered by hour hand in 22 hrs.

= 150 min =150 x 15 - 75°

Q10. Answer: (a)

Ashish leaves his house at 6:40 AM.

Ashish reaches Kunal's house at 7:05 AM.
They finish Breakfast at 7:05 + 0:15 = 7:20 AM.

That's the time when they leave Kunal's house for thier office.

Q11. Answer: (a)
Anuj reached at = 8: 15 AM

Time when the other man came = 8:15 + 0:30=8:45 AM (who was
40 minutes late)

-. scheduled time of meeting = 8:45-0:40 = 8: 05 AM



Q12. Answer: (c)
At 4 o'clock, the hands of the watch are 20 min. spaces apart.
To be in opposite directions, they must be 30 min. spaces apart.

. Minute hand will have to gain 50 min. spaces 55 min. spaces are
gained in 60 min.

50 min. spaces are gained in (% X 40) min. or 541—61 min.

.. Required time = 541—61 min. past 4

Q13. Answer: (a)

x weeks x days = (7x + x) days = 8x days

Q14. Answer: (d)
Hour hand covers an angle of 360° in 12 hours.

-. Time taken to cover an angle of 135°

=12 S 135245n
360

. Required time =3 + 45 =75 =7:30

Q15. Answer: (d)

16 - 1- 1997—Thursday.

Number of normal year between 1997 and 2000 = 2
We know every year has 1odd day.

Now, number of leap year = 1

Leap year has 2 odd days

~.odd days =2 + 2 =4 .. 4 Jan, 2000 was Tuesday.



